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QUESTION 1

Which statement about the db2move command is TRUE? 

A. The LOAD actions can be run from a client machine. 

B. Object ownership cannot be changed after a successful schema copy operation. 

C. Tables containing GENERATED ALWAYS identity columns can be imported or loaded. 

D. Loading data into tables containing XML columns is only supported for the LOAD actions. 

Correct Answer: D 

 

QUESTION 2

Which ALTER TABLE statements will put a table named TAB1 in "reorg-pending" state? (Choose two.) 

A. ALTER TABLE tab1 APPEND ON 

B. ALTER TABLE tab1 DROP COLUMN col1 

C. ALTER TABLE tab1 ALTER COLUMN col1 SET NOT NULL 

D. ALTER TABLE tab1 DETACH PARTITION part1 INTO tab_part1 

E. ALTER TABLE tab1 ADD CONSTRAINT pk_tab1 PRIMARY KEY (col1) 

Correct Answer: BC 

 

QUESTION 3

Which data types are only valid when DB2_COMPATIBILITY_VECTOR=ORA? (Choose two.) 

A. XML 

B. REAL 

C. NUMBER 

D. VRCHAR2 

E. VARBINARY 

Correct Answer: CE 

 

QUESTION 4

Which operation can be performed with trusted context privileges that are acquired through a role? 
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A. DML operations 

B. DDL operations 

C. Server maintenance operations 

D. Security administration operations 

Correct Answer: A 

 

QUESTION 5

Which command can be used to view the configured global registry settings for all installed DB2 copies found on a Linux
server? 

A. db2val 

B. db2set 

C. db2look 

D. db2greg 

Correct Answer: B 

 

QUESTION 6

What does dsmtop use to gather metrics? 

A. db2pd 

B. db2dart 

C. the system catalog 

D. monitoring tablefunctions 

Correct Answer: D 

 

QUESTION 7

If the following SQL statements are executed: 

CREATE DATABASE testdb AUTOMATIC STORAGE NO; 

CONNECT TO testdb; 

CREATE STOGROUP sg1 ON `/data1\\'; 

CREATE STOGROUP ibmstogroup ON `/data2\\'; 
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CREATE STOGROUP sg2 ON `/data3\\'; 

Which storage group is the default storage group for the TESTDB database? 

A. SG1 

B. SG2 

C. IBMSTOGROUP 

D. IBMDEFAULTTSG 

Correct Answer: C 

 

QUESTION 8

What is the default value of the DB2 registry variable DB2LDAP_SEARCH_SCOPE? 

A. NONE 

B. LOCAL 

C. DOMAIN 

D. GLOBAL 

Correct Answer: D 

 

QUESTION 9

Which statement about NOT ENFORCED unique constraints is TRUE? 

A. NOT ENFORCED unique constraints can not be defined on primary key columns 

B. The query optimizer will consider a NOT ENFORCED unique constraint when selecting an optimal data access plan 

C. When attempting to insert data that does not conform to a NOT ENFORCED unique constraint, awarning will be
returned 

D. Storage requirements for a NOT ENFORCED unique constraint are no different than the storage requirements for a
similar unique index 

Correct Answer: A 

 

QUESTION 10

Which of the following are all valid types of trigger? 

A. AFTER, ATOMIC, BEFORE 

B. AFTER, ATOMIC, INSTEAD OF 
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C. AFTER, BEFORE, INSTEAD OF 

D. ATOMIC, BEFORE, INSTEAD OF 

Correct Answer: C 
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